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QUESTION 1

All ports on the root bridge exchange machine are designated ends ()
A. True

B. False

Correct Answer: A

QUESTION 2

Which of the following advantages is/are inter-VLAN route interworking in one-arm routing mode?
A. Reduced the number of links

B. Reduced the use of IP addresses

C. Reduced the number of devices

D. Reduced the number of entries in the routing table

Correct Answer: A

One of the advantages of one-arm routing mode is that it reduces the number of links required for inter-VLAN routing, as
only one link is needed between the router or Layer 3 switch and the switch

QUESTION 3

The router needs to modify the destination IP address in the data packet when forwarding the data packet ()
A. True

B. False

Correct Answer: B

QUESTION 4

When an Access type port sends a message, it will ()?

A. Send tagged messages

B. Strip the VLAN information of the message, and then send it out
C. Type the PVlinformation of this port, and then send it out

D. Add the ZLAN message of the message, and then send it out
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Correct Answer: B

QUESTION 5

During data access, when accessing different network segments, the destination MAEncapsulate the MAC address of
the gateway on the source host

A. True
B. False

Correct Answer: A

QUESTION 6

Which of the following is a valid default route configuration?

A. [Huawei]ip route-static 0.0.0.0 0.0.0.0 0.0.0.0

B. [Huawei]ip route-static 0.0.0.0 0.0.0.0 192.168.1.1

C. [Huaweilip route-static 0.0.0.0 255.255.255.255 192.168.1.1
D. [Huawei-SerialO]ip route-static 0.0.0.0 0.0.0.0 0.0.0.0

Correct Answer: B

QUESTION 7

The administrator cannot log in to the Huawei router through Telnet, but other administrators can log in normally, so
which of the following are the possible reasons? ()*

A. The authority level of the administrator user account has been modified to 0
B. The administrator user account has been disabled

C. The Telnet service of the AR2200 router has been disabled

D. The administrator user account has been deleted

Correct Answer: BD

QUESTION 8

On an interface that uses PPP as the data link layer protocol, you can configure a static route by specifying the next hop
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address or outgoing interface. ()
A. True
B. False

Correct Answer: A

QUESTION 9

Two switches use manual link aggregation at the same time. The following statement is wrong. () (Single-choice
guestion)
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A. Only switch off GO/0/2 port on switch B. The Eth-Trunk status is still UP

B. Turn off the G0/0/1 and GO0/0/2 ports on switch B, and the Efh-Trunk status is still UP
C. Only switch off GO/0/1 port on switch B. The Eth-Trunk status is still UP

D. Turn off the G0/0/1 and GO0/0/2 ports on switch B. The Eth-Trunk status is down

Correct Answer: B

QUESTION 10

Through sR (Segment Routing), an explicit path can be easily defineThe nodes in the network only need to maintain the
SegmentRouting information to cope with the real-time and rapid development of the business. What are the following
characteristics of Segment Routing?

A. Extending the existing protocol (eg IGP) can make the existing network better and smoothly evolve

B. SR (Segment Routing) adopts IP forwarding, no extra dimensioning is required-a label forwarding table

C. Source routing technology is used to provide the ability to quickly exchange text between the network and upper-
layer applications

D. At the same time, it supports the centralized control mode of the controller and the distributed control mode of the
transponder, providing a balance between centralized control and distributed control

Correct Answer: ACD
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QUESTION 11

The two-layer switch is a data link layer device, which can identify the MAC address information in the data frame, and
record these MAC addresses and corresponding port information in its own MAC address table. ()

A. True
B. False

Correct Answer: A

QUESTION 12

As shown in the figure below. Which port of the following switches will be blocked? () (Single-choice question) A.
SWA\'s G0/0/3

Bridge 1D Br
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B. SWC\\'s G0/0/1
C. G0/0/3 of SWB

Correct Answer: C

QUESTION 13

Among the configuration BPDUs sent by the switch, which bridge is unlikely to appear? ()
A. 819200-01-02-03-04-CC

B. 409600-01-02-03-04-CC

C. 000-01-02-03-04-CC

D. 204800-01-02-03-04-CC

Correct Answer: D
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QUESTION 14
The following is the statement about the election of active ports in link aggregation LACP mode. the correct one is? ()

A. The interface priority is compared first, and the better one cannot be judged to continue to compare the interface
number, the smaller the better.

B. Only compare interface priority
C. Compare device priority
D. Only compare interface numbers

Correct Answer: A

QUESTION 15

When the FIT AP goes online, the software version will be downloaded from AC.
A. True

B. False

Correct Answer: B
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